
# item code Product Description
1 KTTBB Kat Tennis Ball Beater
2 KT1P8 Single Zone Pad 8" Grey
3 KT1BP8 Single Zone Bass pad 8" Grey
4 KT1BT Bass Drum Tower for KT1 W/8" Pad
5 KTC10S 10" Single Zone with Choke E-Cymbal
6 KTC12S 12" Single Zone E-Cymbal
7 KTHC10S Single Zone Hi-Hat E-Cymbal
8 KT1HCA Straight Hi-Hat Cymbal Arm for KT1
9 KT1SCA Straight Cymbal Arm for KT1

10 KTCWNGY Cymbal Arm Wing Nut - Grey
11 KTRBA Rack Boom Attachment
12 KTEC Grey End Cap for Kat Rack Tube
13 KTM1 Kat KT1 Module
14 KTPA1 Kat Power Adapter for KT1/KT2
15 KTWH1 Kat Wire Harness for KT1 Module
16 KTHHC1 Hi-Hat Controller for KT1
17 KT1MCL Rack Clamp for KT1 Module/HH Arm
18 KT1CL Pad Clamp for KT1 Rack
19 KT1SLR L-Rod for KT1 Snare Pad Clamp
20 KT1LR L-Rod for KT1 Tom Pad Clamp
21 KT1RACL Right Angle Clamp for KT1 Rack
22 KT1RF T-Leg Rack Foot for KT1 Rack
23 KTVT Velcro Tie Wrap for Kat Rack
24 KTLB Leg Brace for Kat Rack
25 KTM6S25 bolt M6*25, square head, Chrome plate
26 KTM6S40 bolt M6*40, square head, Chrome plate
27 KTM6S33 bolt M6*33, square head, Chrome plate
28 KTM6H45 bolt M6*45, Hexgon head, Chrome plate
29 KTM6N Nut M6, Ni plated
30 KTM6W Washer, ID6.0, OD14.0, THK1.0, Ni plated
31 KTPCWNGY Wing Nut, plastic part, grey
32 KTRT1 Kat Rack Tube 12" (300mm)
33 KTRT2 Kat Rack Tube 14" (350mm)
34 KTRT3 Kat Rack Tube 19.5" (500mm)
35 KTRT4 Kat Rack Tube 21.5" (550mm)
36 KTRT5 Kat Rack Tube 22.5" (650mm)
37 KTRT6 Kat Rack Tube 31.5" (800mm)
38 KT2CL Pad Clamp for KT1 Snare Pad
39 KTRML Rack Memory Lock for KT2
40 KTSP1 KAT Chain Drive Single Pedal

KAT KT1 PARTS 2012

5 6 

19 

20 

21 
17 

22 

16 

2 

12 

31 

8 
17 

13 

9 

10 

7 

21 

3 
24 

18 

4 34 

37 

32 

11 

34 

33 

38 

39 

1 

40 

14 

15 

23 


	KT1 Parts

